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ACCOUNTING EQUATION
LECTURE - 4
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Questions Prepare the Accounting Equation on the basis of the following:

® N O N W N

Harish commenced business with cash
Furniture purchased for cash.

Purchased goods fron credit.

Sold Goods (Costing ¥10,000) to Mohan for cash.
Additional capital introduced.

Commission received in advance.

Paid to creditor (Mahesh) in full settlement.

Sold goods (Costing ¥15,000 for18,00Q out of _ |

which 75,000 received in cash.

Depreciation on furniture provided @10%.
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Solution:
S. [ Transactions Assets (3) = Uabilities®  +Caphal)
No. Cash + Fumiture + Stock + Debtors = Creditors + CommRecd + Capital
in Advance

1. | Harish Commenced

business with cash | 1,50,000 0 0 + 0 = 0 + 0 + 150,000
2. | Furniture purchased

for cash ~20,000 20,000 0 + 0 = 0 + 0 + 0

New Equation 1,30,000 20,000 0 + 0 = 0 + 0 + 150000
3. | Purchased goods from

Mahesh 0 0 25000 + 0 = 25000 + 0 + 0

New Equation 1,30,000 20,000 25000 + 0 = 25000 + 0 + 150000
4. | Cash Sales

(Profit T 14,000-T10,000) | 14,000 0 10,000 + 0 = 0 + 0 + 4,000

New Equation 144,000 20000 + 15000 + 0 = 25000 + 0 + 154000
5. | Additional capital

introduced 20,000 0 0 + 0 = 0 + 0 + 20000

New Equation 164,000 20,000 15000 + 0 = 25000 + 0 + 17400
6. | Commission received ,

in advance 2,000 0 0 + 0 = 0 + 2000 + 0

New Equation 1,66,000 20000 + 15000 + 0 25000 + 2000 + 174000
7. | Paid to creditor Mahesh

222,500 in full settlement | -22,500 0 0 + 0 = -25000 + 0 + 250

New Equation 143,500 20000 + 15000 + 0 = 0 + 2000 + 176500
8. | Sold goods (costing

T 15,000) for T 18,000

out which ¥ 5,000

received in cash 5,000 0 - 15000 + 13000 = 0 + 0 + 3000

New Equation 148,500 20,000 0 + 13000 = 0 + 2000 + 179500
9, | Depreciation on furniture

@ 10% on ¥ 20,000 0 - 2000 0 + 0 = 0 + 0 - 2,000

New Equation 148500 + 18,000 0 + 13000 = 0 + 2000 + 17250
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Questions Transactions of M/s Vipin Traders are given below: Show the effects on Assets, Liabilities and Capital with
the help of accounting equation.

(a) Business started with cash 31,25,000
(b) Purchased goods for cash 350,000
z(c/)Purchased furniture from R.K. Furniture 210,000
(d) Sold goods t@(Costing 37,000 vide bitte=5:674] 39,000
Sol.
S. NO. TRANSACTION /ASJSETS - LIABILITY + CAPITAL
Casl, }+ Stk +TFuentuse + Delohor Coedsdor (F)
- TRugine ss %xky 12S0o00L N —+12S 000
ES (\)Vrc hasen —Eooow 4+ 50000
N&w ¢OUATION 76000 + Gpo6 F\12S 020
3. [ Fuvnituve Puvthone A + 10006 w o VoY)
Tew  Cauakon 715000 + S0 }|pbOO +1v000 +l2 500,
-l Cxedik <aly - 0006 + Gooo + 2oboo
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N
(e) Paid cartage 3100 W —
(f) Cash Paid to R.K. Furniture in full settlement  ¥9,700 /7 (2
(g) Cash sales (costing ¥10,000) 312,000 ° el —
1 |
(h) Rent received 34,000 @ {2t % I cay
(i) Cash withdrew for(gérsonal use> 23,000 —
— +
S. NO. TRANSACTION __ ASSETS . LIABILITY CAPITAL
(ash+ Stock +Fumituret Dby Creditoe / ‘T)
New W 150004 4300p + lDooOL 4 G000V —+ lbooo 4+ 127000
5 CO«Y-}O"\Q Y — l0b
New Loy 7Y Gou + Y3000 + 10000 + G000 —4-10 00D 4+ 124900
6 (ag}\ Yerd " Toll sedl - [~ Groo —\1b0ooO + 200
New €9. §S 200+ 43000 + 10006 4 Qoo O } 1272 o0
7‘ Cesh Sale 4+ 12000 — 10000 + 7000
e w ic‘ 77200 ) 30064 10pee A0og o + 12872606
& Rk Recennd + 4ov0 Y 4000
@1 Mew ‘Y- R g’ggg‘} 33000 +1ooosd Qoo o o) ?.\- |3%'§;SS
9 AL\NA \

' Mew & 7820013300 10000 +3000 o A 130250
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Questions Show the effect of the following transactions on the Accounting Equation:
(i) Started business with cash 350,000
(ii) Salaries paid 32,000
(iii) Wages outstanding 3200
(iv) Interest due but not paid 2100
Sol. (v) Rent paid in advance 2150
ASSETS = LIABILITY + CAPITAL
S. NO. TRANSACTION Co\s'r\ g ?‘fpa} 9 ,‘?( X O\M\'QJ,,%AXD 4-005\4:33:;7
¥ Jtovted TBusirom 56 LoL ' Ho gD
P gq,o\yn ?mol - 2000 —2.000p
" NE 4, 3000 L% 00D
> | Qisdanding L)oqes 10D - 05
NE Y e L€oo00 1 00 + 47%00
4 | Bubsionding Intresh + 100 ~ loo
NE Y 4Xboo T200 +1pd T 47700
S| Prepard Hpon | — 166 IS
Ne 4727060

NE 47350 & |Sv — T2Zoo +loo
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Questions What will be the effect of the following on the Accounting Equation? MO e WY {{
(i) Harish started business with cash 318,000 _ —
(ii) Purchased goods for cash ¥ 5,000 and on credit 32,000
(iii) Sold goods for cash 34,000 (costing ¥2,400)
(iv) Rent paig and rent outstanding 3200
SOI.
ASSETS = LIABILITY + CAPITAL
Casl ) ent 0
Rept Posd £ Ovksdndy] - [000 + 200 — 1200
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Questions Anil had the following transactions: 3{

1. Commenced business with cash ¥50,000. /——\\

2. Purchased goods for cash 20,000 and credit ¥30,000.
3. Sold goods for cash 40,000, costing ¥30,000.
4. Rent paid 500, Salaries ¥5,000.

5. Rent outstanding 100, Salaries Outstanding 21,000. O @
6. Bought furniture for ¥5,000 on credit. / \
4

7. Bought refrigerator for personal use ¥5,000.

8. Purchased computer for cash ¥20,000.

9. Cash withdrawn for personal use ¥10,000.

10. Interest on drawings charged ¥500 and the interest on Capital 31,000.

Use Accounting Equation to show the effect of ;[oé
the above transactions on his assets, liabilities
and capital and also show his Balance Sheet.




BATCH
S, | Transactions Assets 2 Liabilities + Capital =
N<;. Cash + Stock + Fumniture + Computer = Creditors* + Expenses + Capitaf
Outstanding
t 2 4 T T (4 R |
1. | Commenced business B
with cash ¥ 50,000 50,000 + 0 + 0 0 = 0 + 0 + 50000
2. | Purchased goods for
cash ¥ 20,000 and :
credit ¥ 30,000 -20,000 + 50,000 + 0 0 = 30000 + 0 + 0
New Equation 30,000 + 50,000 + 0 0 = 30000 + 0 + 50000
3. | Sold goods for cash
T 40,000 costing
730,000 40,000 - 30,000 + 0 0 = 0 + 0 <+ 10,000
New Equation 70,000 + 20,000 + 0 0 = 30000 + 0 + 60,000
4. | Rent paid -500 + 0 + 0 0 = 0 + 0 - 500
Salaries paid -5,000 . oy - 5,000
New Equation 64,500 + 20,000 + 0 0 = 30000 + 0 + 54500
5. | Rent Outstanding | . - 100 - 100
Salaries Outstanding 0+ 0+ 0 0 = 0 + 1000 - 1,000
New Equation 64,500 + 20,000 + 0 0 = 30000 + 1,100 + 53400
6. | Bought furniture for -
¥ 5,000 on credit 0+ 0 + 5,000 0 = 5000 + 0 + 0
New Equation 64,500 + 20,000 + 5,000 . 0 = 35000 + 1,100 + 53400
7. | Bought refrigerator
for personal use
l?s,o()o ~5000 + 0+ 0 0 = 0 + 0 - 5000
; New Equation 59,500 + 20,000 + 5,000 0 = 35000 + 1,100 + 48400
8. | Purchased computer '
for cash T 20,000 -20,000 + 0 + 0 20000 = 0 + 0 + 0
New Equation 39,500 + 20,000 + 5,000 20000 = 35000 + 1,100 + 48400
9. | Cash withdrawn for
personal use -10,000 + 0 + 0 0 = 0 + 0 - 10000
New Equation 29,500 + 20,000 + 5,000 20,000 35000 + 1,000 + 38,400
10. | Interest on drawings 0 + 0 + 0 0 = 0 + 0 + 500
- 500
Interest on Capital - 1,000
+ 1,000
New Equation 29500 + 20,000 + 5,000 20000 = 35000 + 1,100 + 38400
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Questions Showan Accounting Equation for the following transactions: 500 Qv n
' \
1.D. Mahapatra commenced business with cash ¥50,000 and \i/ /3 M

21,00,000 by cheque; goods 260,000{f machinery =\’1,00,009
and furniture ¥50,000.
2.1/3rd of the above goods sold at a profit of 10% on cost and
half of the payment is received in cash.
3.Depreciation on machinery provided @ 10%.

éo\fj} =) D\QOOO

CoSh Debiox

||]ODDO [lO©0
Sol.
ASSETS = LIABILITY + CAPITAL
S. NO. TRANSACTION
Cosl + Poock S tock £ Mackt + Ty +Debir o opeap ——~
I | Business stavded >0000+(0pp00 + {0000 + 100000+ 50000 W
- SO\'(A 4| llooo (20000) Flipoo +Qooo
¥ New & £1000 + 100000 + 40000 + [0000p + 50000+ 1166 + 342000
3. | Depritiahbn 6000@ 0 0
Nero E.C‘ {looo+ |boooo+ 40900 +Gooey FSooootoad ?//Mo«yd\ >, + 352500
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1.Cash withdrawn for personal use ¥10,000. /
2.Interest on drawings charged @ 5%. v )92 009
3.Sold goods for Cash 10,000 at par.
Dbttt -
ASSETS = LIABILITY + CAPITAL

TRANSACTION
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Questions Givean example for each of the following type of transactions:
(i) Increase in one asset, decrease in another asset.
(i) Increase in asset, increase in liability.
(ili) Increase in asset, increase in owner's capital.
(iv) Decrease in asset, decrease in liability.
(v) Decrease in asset, decrease in owner's capital.

Sol.
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Questions Ifthe Capital of a business is ¥1,00,000 and outside liabilities are ¥60,000, Calculate total assets of
the business.

Pssehs = Liob +-Cap
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. U
Questions If total assets of a business are ¥2,00,000 andCapitaI) is ¥1,50,000, Calculate Creditors.

Q%Sd‘g‘— (Ao\a) — Cn\o

QOOOOD_— D¢ + ISOOOD

200000 - ISovo0o = A

/—-

( 2 Soooo- Creditors
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Questions A commenced bli ess on 1st April, 2017 with a Capital of{¥5,00,000.0n 31st March, 2018, his assets

were worth®&7,80,000)and ImbﬂMes\}O@Fmd out his closing capital and profits earned during
the year.
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Questions 1.Mohan started a business on 1st April, 2023 with a capital of 10,000 and borrowed ¥3,000 from a

friend. He earned a profit of 5,000 during the year ended 31st March, 2024 and withdrew cash
34,000 for personal use. What is his capital on 31st March, 20247

2.Mahesh started a business with a capital of 15,000 on 1st April, 2023. During the year, he

earned profit of ¥3,000. He owes 2,500 to suppliers of goods. What is the total of assets in his
business on 31st March, 20247

O Opertrg Gtk F oo P f’*‘?]( — lowoo
+ | ' >  Sovo
ok = 2000 X
@ - %\ONM% _ <400u>
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Questions 1.Mohan started a business on 1st April, 2023 with a capital of 10,000 and borrowed ¥3,000 from a

friend. He earned a profit of 5,000 during the year ended 31st March, 2024 and withdrew cash
34,000 for personal use. What is his capital on 31st March, 20247

2.Mahesh started a business with a capital of 15,000 orrIst April, 2023. During the year, he
earned profit of ¥3,000. He owes 2,500 to suppliers of goods. What is the total of assets in his

business on 31st March, 2024? 7. 3 itor
0, Opmin/j_(g?ﬂt—al:- | 5000 Clor'eg Coap = o cap+P—D
@51260\0 =) [S000 + Rvoo -~ &
5) Pt 3oeo 7% 0o
% gfbym,o [ Crye %m%‘
(&) Clesing ap—7 Assdhs = 2500 + | 3050

= 7 20500

—
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Questions 0r{31st March, 2024 total assets and external liabilities were ¥2,00,000 and 6,000 respectively.
During tThe year, the proprietor had introduced capital of 20,000 and withdrawn 12,000 for

personal use. He earned a profit of 20,000 during the year. Calculate the capital as on 1st April, 2023.

(’ob{’v\ﬁ . |
(—7 Pesubg = Jooovoo ﬂd{;"homo\ C"\Flf’:i; 2 00e0
PARYS = 00D
)-—7[)\0\0) =~ fooo ! 70

Clos‘l’rg (\)"‘{h\{" = Qovoo
Copfed =7 E:Ld OPENING CAPITAL %

200000 = oo + c.c. (+) p,&&..;k’oy\d @P,M (+) 2 000p
,200000_6000: Woring o Q\D ’DYO\\,:)N\% (‘) 1200p
2 P (+) Paffit (4) 2000,
- T
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Questions Calculate the amount ofl External Equities)as on 31st March, 2024 in the following cases:
(i) On 31st March, 2024, to apital were %15,00,000 and 10,50,000 respectively.

(i) On 1st April, 2023, Mukesh started business with a capital of 3,00,000 and a loan of ¥3,00,000
borrowed from a friend. During the year, he earned profit of ¥1,50,000. On 31st March, 2024, total
assets were 3¥15,00,000.

(ili) On 1st April, 2023, Ramesh started business with a capital of ¥3,00,000 and a loan of ¥3,00,000
borrowed from a friend. During the year, he earned a profit of ¥1,50,000, introduced an additional
capital of ¥1,80,000 and had withdrawn 90,000 for his personal use. On 31st March, 2024, total
assets were ¥15,00,000.
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Questions Pranav started business on st April, 2023 with capital ofiz5,50,000,0n 31st March, 2024, his total
assets werand liabilities Were alcu e amount by which his capital has

increased as on arch, 2024.
Uogf«\ﬁ — H=L +c
— lo07Bvvo = 292So0 + C_]ox\\\; (et .

[o750006 2972 Soo

2500 = (Uow.
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